ES 332: HW 7 New Mexico Tech Spring 2015

Important Remarks

o IHomework is due on February 27 at the beginning of class.

1. Problem 3.20
2. Problem 3.26
3. Problem 3.34
4. Problem 3.35
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IMPORTANT CIRCUIT CONCEPTS

. 3.20 For the circuit shown in Fig. P3.20, us¢
formations to determine ty

|
. source trans
and v;.
3V 4s 391 Repeat Problem 3.18 for the circuit
I shown in Fig. P3.21. o
3.22 Forthe circuit shown in Fig. P322,use
source transformations to determine

Fig. P3.22
and v.
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PROBLEMS FOR CHAPTER 3

3.23 Repeat Problem 3.22 for the circuit

shown in Fig. P3.23,
3.24 For the circuit shown in Fig. 3.24, use
source transformations to determine v.
/3.25 Given the circuit shown in Fig. P3.25;
(a) Find the Thévenin equivalent of
the circuit to the left of terminals

a and b.

(b) Use the result of part (a) to find i.

«3.26 Repeat Problem 3.25 for the circuit
given in Fig. P3.26.

3.27 Repeat Problem 3.25 for the circuit
shown in Fig, P3.27.

3.28 Repeat Problem 3.25 for the circuit

shown in Fig. P3.28.
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Fig;. P3.29

3.29 Repeat Problem 3.25 for the circuit
| shown in Fig. P3.29.
3.F30 Repeat Problem 3.25 for the circuit
| shown in Fig. P3.30.
3.81 Find the Thévenin equivalent of the cir-
cuit shown in Fig, P3.31.

Fig. P3.31

3.32 Find the Thévenin equivalent of the cir-
cuit shown in Fig. P3.32.
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Fig. P3.30

3.33 For the circuit given in Fig. 3.35 (p.
126), change the 2-Q resistor to a 1-Q
resistor. Find the Thévenin equivalent
of the resulting circuit,

3.34 Find the Thévenin equivalent of the cir-
cuit shown in Fig. P3.34,
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Fig. P3.34

Fig. P3.35
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£=d the Thévenin equivalent of the cir- 6 &

’:;:: shown in Fig. P3.35.

F=d the Thévenin equivalent of the cir-
==t shown in Fig. P3.36. (Hint: Use a
serrent source i, to determine R, )
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Fig. P3.39

3.40 For the circuit shown in Fig, 3.25 (p.
122), v,. = 9 V. If the voltage across the
Repeat Problem 3.36 for the circuit load is 4 V when R; = 2 Q, find the out-
shown in Fig. P3.37. put resistance R, of the circuit.
For the circuit shown in Fig. 3.25 (p.
122), when R, = 1 Q the voltage across
R, is 4 V, and when R} = 4 Q the volt-
age across it is 8 V. Find the voltage
across R, when R, =3 Q.
For the circuit given in Fig. P3.25,
(a) find the Norton equivalent of the
circuit to the left of terminals a and b
and (b) use the Norton-equivalent cir-
cuit to determine i.
| 3.43 Repeat Problem 3.42 for the circuit
g PB.37 shown in Fig. P3.26.
: : 3.44 Repeat Problem 3.42 for the circuit
238 Find the Thévenin equivalent of the op- shown in Fig. P3.27. ‘
;amp circuit shown in Fig. P3.38. 3.45 Repeat Problem 3.42 for the circuit
shown in Fig. P3.28.
3.46 Repeat Problem 3.42 for the circuit
shown in Fig. P3.29.
3.47 Repeat Problem 3.42 for the circuit
shown in Fig. P3.30.
3.48 Find the Norton equivalent of the cir-
cuit shown in Fig. P3.31.
3.49 Find the Norton equivalent of the cir-
2 cuit shown in Fig. P3.32.
&g F3.38 ‘' 3.50 Find the Norton equivalent of the cir-
- cuit shown in Fig, P3.34,
139iFind the Thévenin equivalent of the op- ,\ 3.51 Find the Norton equivalent of the cir-
lamp circuit shown in Fig, P3.39. cuit shown in Fig. P3.35.




